Interpreting Graphs Practice i MEL4.E

1) Identify the type of graph, explain why each graph is suitable for the data displayed.

a) _ b)
+Age Différences in o
How Employees Get to Work e —

8 60 - 40
. i
g'-z;o : 30
& J0F 5
Y 34 20 e s
o &
5 20 5
.-‘E" 10 g' (0 % e
z | Ol
" “'Mode of Trinsportation BRI
Date
D ™ | ») ~ i . ' - ‘
Type:  Double Dar- Gorwp k. Type: Line (J.\q—,-; I~
v \
Reason: A . Reason: . \ 0
Com D ama N ~ S FS DQaiay Now k" W t’,z»a;,mur(-'_
' 4 J
E ALk . = - 4
SRS Chaon P oover hun
<) d) e)
Time Spent.on:Homework - Owen Sound-and Yellowknife : -

How Employees Get to Worl

Gio Témpernfgrc;'ih]uly.; § 120
< i & 1o}
£ g w)|
iy w o go |-
glop ° 40i- AT
Novle;;:uqx _ § ¢ Car  Bus Trairi-'.ﬂ_.Wal_kw
~e~ Owen Sound  ~e~ Yellowknife | ‘Mode of Transportation

C) Type: L‘\ ~\a (‘;.\rwt P (\ Type: b o uLL:i': & =k (ZK\‘:T‘ L\ _
Reason: . - -, L .| Reason: _ , L
v (CVAW: K V\,{\J Tl § ‘tn?,fv\_/\ C"‘:‘ o (‘ wres L\ b W .* WO S ;:/.—,i~<> o
oS *f o L ok o whel | *Q D 24U ;/‘\'une.s Qlue_ e C}-,; Quer "l“k A
\ ¥ d
L:,\ P\ o C/i\: C'V'L‘v'\.f\ —~  Cownp BriAY ‘ sob of (ﬁ\ c\-’k“f\
{ \

(
\

\
S



Interpreting Graphs Practice | MEL4E

2) The city art department could display 400 WiereNauroperty s B

the distribution of a certain amount of

property taxes in a bar graph, instead of

using the circle graph in our note.

a) How are the circle graphs and bar graphs
alike? How are they different?
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b) Which graph do you think is more suitable for displaying the data? Explain.

3) We will be using percentages a lot with circle graphs. Express each of the following as a percent.
Hint: Divide and multiply by 100.

a) 25 out of 100 people
c) 50 out of 500 cars
e) 2 out of 3 houses

b) 50 out of 200 light bulbs

d) 50 out of 75 students
) 3 out of 5 dentists

g) 7 out of 10 drivers h) 1 out of 4 telephones
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4) In our note, we did a bar graph showing where transportation workers are employed. Displaying only
these seven areas of employment in a circle graph would not be meaningful. But you could display

these seven areas and “Other” as percents of the total in the pie graph.
Transpdrtation’.wdH«g_i-s; Where They Work

Air transportation ——1:.

18%

Business.services:

44%.

a) What do the percentages add to now?
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b) Let’s say 200,000 workers in Canada work in the transportation field. Determine the number of

workers in each sector.

Sector Percentage Number of Workers
Business Services L “'( 0.44 w200 = ¥¥ , 000
Air transportation 1 3 0. \X< X2Zoooxe = 20 | 00O
Rail transportation |4 L%, 000 |
Federal administration | \$ . 000
Water transportation 1 & 0OG
Public transit 2 fs ( 006

)
Wholesale trade i 7 000
Other K ¢, 000
Totals iL,L, Q_}.)(;’& O0o
T
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When you want to describe a memorable scene, you can use words. However, a picture often shows it
better. You can arrange data or information in a table. However, there are a couple of reasons why a
graph might be better:
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What are some types of graphs that you have gsed/seen?
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Example: James works for a newspaper. He is writing

an article about the cost of clearing snow from cities in Vancotvar
Canada. The cost is obviously related to the amount of ~  Calgary
snowfall. James found the following information off the =~ Regina

. . Yorontol 0 Lis
Statistics Canada website. Oy |
. o Quebec City "4 e i
James decides to use a bar graph in his article. Bar Ll oty

graphs are used to compare quantities. Equal spaces
separate the bars. Those with vertical bars are sometimes called column graphs.

a) What is shown on the vertical axis? Average Annual Showfall in Canadian Cities
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b) What is shown on the horizontal axis?
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amount of snowfall?

Average Snowfall (crm)
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d) Which two cities are closest in average snowfall?
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e) Which way of presenting the data is easier to read — the table above, or the bar graph? Explain.
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f) James sends the bar graph to the art department at
the newspaper. The graphic artist draws the ‘graph SO
that it catches the attention of the readers. What are
some advantages/disadvantages of this presentation?
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Example: A government Web site has information about Transportation Workers: Where They Work
various jobs. In the section about transportation workers, a i i

- Business Services ERRiEILEE
bar graph shows in what areas these employees work. The " AlrTransportation

bars are drawn horizontally. : d““‘:m"‘wmﬁ‘m w42
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a) What do the numbers at the right of the bars represent? Public Transic and.Otlier |
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b) What information might you add to the graph to make it easier to read?
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Example: This graph shows the percent of Bheibution Ty han i Dcenationsd

the population in various age groups 30 || @ InTransportation Occupations
working in transportation occupationsand | [ Incllectpidons

. 5 30
in all occupations. B

g 20
a) What is the total percent of people in 0|
the transportation industry? 0 e So.9 _451 “Ese
‘ ) o Age Group
23+ 31439406 = 99°,

b) What is the total percent of people in all occupations?

27 £ 29 +3S + 0 = \ol /

c) Why do you think the totals are not 100%?
R »5\4\.1{\4&\!\ ,%

d) This data could have also been displayed in
a double bar graph. Double bar graphs are
used to compare two similar sets of data.
Which graph do you find easier to
understand? Why?
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Example: Karen is making a poster for an independent study project for physical education class. She
found information in the newspaper on times taken to run the 100m dash in several years 1930 to 1999.

Karen used a line graph to display the " Flirse-for Tl miBath
information. On a line graph, line segments are 103 bk BT MR
used to join data points. Line graphs often show 'g :g? : ‘

. o
a change over time. g 10}
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b) When was there an increase in the time for the 100m dash? How do you know? What might have
caused the increase? Hint: The Seoul Olympics were in 1988.
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Example: Frank is studying the effect of various Compadlior of the Nihbies aE Teditie
forms of stress on people. He thinks that stress Deaths and the Number of Murders

due to a combination of poor economic f ; | i
conditions and po||t|cal unrest may GEUSE people PRAUPR RSN | MR IR it SRR RS, R st Sunlion A ARG
to drive carelessly and to disagree violently with
other people. He finds data on the number of
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Frank uses a double line graph to display the ok Year

data. A double line graph is used to compare two
sets of data that change over time.

a) What trends should he look for in the graph? b) What trends do you see?
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c) If Frank is correct, more people drive carelessly at the same time as more people disagree violently.
Do you think the graph shows this to be true? Explain.
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Example: A city presented its budget as a pie graph or circle graph. A circle graph has sectors that
represent portions of a whole. In this pie graph for property taxes, each sector represents the property
tax paid for one area as a percent of the total collected from all property owners.
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a) Which area receives the greatest percent of taxes? Volic e € AL

" \ i
b) Which two areas receive the same percent of taxes? Dg,l; A ?« Libraces (

c) What is the total of all the percentages shown on the graph? Why would this be? :
1S 429+ + 14 +(34+9+9 < 1007, (”ﬂ“““’m’” ’“‘”“"5
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d) A homeowner pays a property tax of $3,000. How many of these tax dollars are spent on police and
fire departments? q
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